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QUESTION 1

You have an AFF A400 cluster that is running ONTAP 9.7 software. You are asked to set up FlexCache for
NFS volumes.

In this scenario, which statement is correct when implementing FlexCache?

A. A capacity license is required.

B. A subscription license is required.

C. A site license is required.

D. No license is required.

Correct Answer: A

Reference: https://www.netapp.com/pdf.html?item=/media/7336-tr4743.pdf (27)

QUESTION 2

In ONTAP 9.7 software, how many different replicated databases (RDBs) exist per node?
A2

B.5

C.3

D.4

Correct Answer: B

Reference: https://www.storagefreak.net/2017/08/netapp-cdot-ontap-9-rdb-and-cluster-replication-ring

QUESTION 3

Which three components are required when setting up a new ONTAP cluster? (Choose three.)
A. password

B. cluster management IP

C. node management IP

D. Advanced Drive Partitioning

E. intercluster IP

Correct Answer: BCE
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Reference: https://docs.netapp.com/ontap-9/index.jsp?topic=%2Fcom.netapp.doc.dot-cm-
nmg%2FGUID1BA3000D-2243-44E4-98CC-8D42A5C8AF8F.html

QUESTION 4

Click the Exhibit button.
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Supported cables for X1144A
Ethernet 10/40 Gbps (CU) Ethernet 10/40 Gbps [CU)

Mitg Part No Mfg Part No Images Length v Description

[-] Copper Cables

XQSFP-45FP10G-CUSM 112-00603 5m Cable,Cu,QSFP+/4xSFP+ 40GbE,
XQSFP-H40G-CUSM-R6 112-00603 5m Cable,Cu,QSFP+/QSFP+ 40GbE,!
X66100-5 112-00544 5m Cable,Cu,40GbE,QSFP+/QSFP+,!
X66120-5 112-00546 5m Cable,Cu40GbE,QSFP+/4xSFP+,
X66120-3 112-00545 3m Cable,Cu,40GbE,QSFP+/4xSFP+,
X66100-3 112-00543 am Cable,Cu40GbE,QSFP+/QSFP+,:
XQSFP-H40G-CU3M-R6 112-00604 3m Cable,Cu,QSFP+/QS5FP+ 40GbE,:
XQSFP-45FP10G-CU3M 112-00602 3m Cable,Cu,QSFP+/4xSFP+40GbE,
X66100-1 112-00542 im Cable,Cu40GbE,QSFP+/QSFP+,
XQSFP-H40G-CUTM-Re 112-00307 m Cable,Cu,QSFP+/QSFP+40GbE,

A customer has two Cisco 40GbE data switches. They want to connect the switches to an AFF A400 HA pair. The
switches and the AFF A400 are approximately seven meters apart.

Referring to the exhibit, which two supported actions would allow you to accomplish this task? (Choose two.)
A. Relocate the switches or the AFF A400 so that the distance is less than five meters.

B. Install 10 meter NetApp supported copper cables.

C. Change the requirement for Ethernet cables.

D. Change the requirement for optical cables.

Correct Answer: BC

QUESTION 5

You are installing a new FAS2750 cluster with 24 HDDs for a customer to run a NAS workload. The customer requests
that the HA pair have only a single aggregate that is located on Node 1. Maximum capacity is required.

Which action must be performed to ensure that the customer\\'s requests are satisfied?
A. Perform a takeover of Node 2 to ensure that it does not run.

B. Assign all data LIFs to Node 1.

C. Assign all the partitioned disks from Node 2 to Node 1, and create a single aggregate.
D. Assign all the data partitions from Node 2 to Node 1, and create a single aggregate.

Correct Answer: B
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